MPMI1D - Grade 9 Academic Math

UNIT FOUR - LINEAR RELATIONS: REVIEW WORKSHEET # 1
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2. Graph the line y = 2x + 2 using the grid below.
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3 Convert the following slopes into il form.
run
=3 1 -1
a) m=-5 ! b) m= 2 e i
- A
c) m=0.5 A d) m=1 [
2 -3,
e) m=-1 Z &
4, Write the equation of the line with each of the following slopes and y-intercepts.
2
a) slope= =5 b) slope = 3
y-int =2 y-int = -4
& —
y = =5x+A y =X 'r
c) slope = 2 d) slope = —
coordinate of y-int is (0,—12) y-int =0
— z
}/: 22’ - A }/ = 4 X
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5. Match the lines on the graph below with their equation (fill in the box beside the equation with the
“letter” used to label the line it represents)

6. State the slope of a line segment that is to a line with a . (See blanks below)

a) perpendicular, slope of — 4 _Lf# heﬂoc[';\/('. mipmca' S [’OP(_»S

f -2
b) parallel, slope of ?6 o —% | Same s [OPPS

c) parallel, slope of % = 15' I P, Sane \SIOPFS

\ \
d) perpendicular, slope of _75 _‘%S Y'LCSG\'['I vi YECIPWCG l S]OPC_S
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7. Write an equation of the line given the following information about the line.

Information Equation of the Line

Since He lines are H’Ep/ 'Hq)/ have wN
in Mf

a) The line is parallel to the line y=5x+2 | s,,me gloPes

and has an x-intercept of — 4. m=5 and b s unhnown (mgs—l z2)
(0,7). I Py=axe . egu.uﬁon s of the form y-5'm-b
1Ty (0, ~%) lies on fmz :+ satishes He ¢qudin|

—

f(] Parale] 7% L 0= 5(H)+b W?

lines = ms]m 0= ~0+4b / y= 2AX+20
The eguation must- be of he +orm

b) The line hasaslopeof— and passes y_.j:x %l CM-" ) b:—?\
?
through the point (4, 1). T i Since (41]) lies on ‘I%Z ling, I‘)ZJ‘Q{JSJ\(’U
dyu

tha eguahon ('5 b=-%

‘ E(.t“;-> b [ epdon ]
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slop& of given Line "-3- a4
- s[tap; o-FMEIJ:cu(ar line = "-;2" "'-2
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¢) The line is perpendicular to

y=—-x—15gnd has a y-iftercept of 7.

. fx /.‘)(u}( ’; -M‘J‘ o-p Perfﬂ-d:cufﬁf line =
i A N
1 a4 egq,a—ﬁon oer P?rmd:‘cu]aj
/ME’H; ! line is y=-Rx+7
{

sbpe =m = _.1}.1_ e | ”_[

d) (-5, -9) and (6, 2) are two points on the Q., (-5)
e, o / egu.ahw I's o-ﬁ Hhe Sorm y = xdxtb = 'x""b}
©@R) S| v (6,2) lies on the g, iF sbishes egu

fir- f &l |
(,’5)4) / :6\[:’9'.*(‘4) x -- 2 é 'i"b he,%_Mf;l_‘:ﬂ o1 e
z\/ E— =1 Gy “an‘w) y=x=4]
T8 s6-5)= 1] e ) b:7 Y
e) Slope is —and the x-intercept is 8. : phe x-iaferc
e C3)0> sati
L 0=
= Des
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8. a) Find the solution to the following linear system of equations by graphing.
Y
¥r y=_73x+2 y=%x—6
8f = ‘ :
5: I homﬂ“g") i'l'Qme %a‘}' x:’t y:"‘fl)‘”*l&"l‘ﬂllo}’]
[ PQH' i b) Check the solution. Show all work.
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9. Bank A offers a student banking package for $0.75 per withdrawal. Bank B offers a student banking
package for $0.50 per withdrawal plus a monthly flat fee of $2.00. How would you decide which
bank to open a student account with? (Note: Use a scale of 0.50 for the y-axis and a scale of 1 for

the x-axis). Remember to label the axis and the lines with the equation of each line. /

let C rtpre,Seh{' Q,OS‘{‘/ w /x’.fre,sen'[- the number s withdrawals
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